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QUESTION 1

What are two bridging concepts that are used to maintain an Ethernet switching table? (Choose two.) 

A. learning 

B. exporting 

C. aging 

D. timing 

Correct Answer: A 

 

QUESTION 2

Exhibit Referring to the exhibit, which router will be elected as the primary VRRP router? 

Routers R1 and R4 have a VRRP priority of 90, while R2 and R3 have default VRRP priorities 

A. R3 

B. R4 

C. R2 

D. R1 
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Correct Answer: D 

 

QUESTION 3

Which statement describes integrated routing and bridging (IRB) interfaces? 

A. An IRB interface Is an IP gateway For hosts of a bridge domain. 

B. An IRB interface assigns interfaces to VLANs. 

C. An IRB interface enables Layer 2 switching on the router. 

D. An IRB interface defines a bridge domain. 

Correct Answer: C 

 

QUESTION 4

Exhibit 

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover
command. Referring to the exhibit, what is the problem? 

A. The command is only available if non-stop routing is enabled. 

B. The command is only available on the backup Routing Engine. 

C. The command is only available If a backup router is configured. 

D. The command is only available If graceful restart is enabled. 

Correct Answer: B 

 

 

QUESTION 5
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Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.) 

A. Type 1 

B. Type 3 

C. Type 5 

D. Type 7 

Correct Answer: CD 
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